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1. (a)  Find the highest common factor of 36 and 54      [1] 

 

………………………………………………………………………………………………………………………………….. 

 

………………………………………………………………………………………………………………………………….. 

………………………………………………………………………………………………………………………………….. 

………………………………………………………………………………………………………………………………….. 

 

 

(b) Use these clues to find the missing number      [3] 

• This number is the product of 3 prime numbers 

• 10 is a factor of this number 

• 210 is a multiple of this number 

• This number is greater than 30 

………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………… 

 

  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



5.  

 

 

 

 

 

 

 

 

 

 

 

 

7. Show clearly whether the following statement is true or false.    [2] 

 

‘Multiplying any number by 10 is easy, you just add a zero to the original number’ 

 
………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………… 

 

 

 

 



9.  

 

 

 

 

 

 

 

 

 

 

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………
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………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………
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………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………… 
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13.   A solution to the equation  

     x3 + 2x – 25 = 0 

      lies between 2 and 3. 

Use the method of trial and improvement to find this solution correct to 1 decimal 

place.  You must show all your working.      [4] 
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